2022 R =HF LA F B M EE K%
1. 3P -

1 1
=xl-< 1

B oA = {x|x*—2x—3 < 0} B [
A fxll<x<3} g {x[-1<x<0FH1<x<3}

, MANB="()
Cc {x[-1<x<3}p {x|-1<x<0B0<x=<3}

2. IEFERE ~ o
E,'%l][ﬁ,l%gz (A+12)b=(- 2.2],%|;‘— zll;—a'| =la+2b], MARMER (O
A.-3B.-1C.1D.2

3. EEE N
Bta=log36, b=Ilog510, c=log714, N ().
A. c>b>a B. b>c>a

C. a>c>b D. a>b>c

4. BB

flx)h= %T ~4x? +6x

Eﬁ%tﬁﬁﬁﬂ{““}ﬂlﬂﬁﬁ"u D03 2 PR S _SEQWE):%, mulog£a3”= ()

A 1B 2C.-1D. V2

5.

THIHEERBE O

A VXY ER Zx+y#0, =1y FTD B EH A4S

B. 7E[F—AH5 F rp By = F(+ 1) 5y = 7= gy B RO FY X HR .

C. frE<Ix €R gz + 2x +3 < 09y i BeVX ER | #mgex’ +2x+3 > 0»

1
D A€ R, «ofligeaz Lo iy p B

6. 1EFE N
RS e oo + ol RO, BohFERSES U =-1, mge 1= fo-1 < Tggr gy
WwERE ()

x1-22lg |-11] ¢ l02] p [13]

7. EFERR -
B g f () = sineInfx| gy Ry % R BR: ()

A. B.



